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CCNP 642-832 TSHOOT Ticket 11 &ndash; EIGRP to OSPF

	In this post&#160; CCNP 642-832 TSHOOT TROUBLE TICKETS (TT) Questions, i have introduced the trouble tickets questions

of 642-832 exam.  And you can reading it carefully, any questions then contact me.  Also, i have uploaded the topology.&#160;

Lab-Sim Topology.pdf  Client 1 is not able to ping the Webserver   DSW1 can ping fa0/1 of R4. However clients and DSW1 can't

ping R4?s S0/0/0/0.34 interface (10.1.1.10)     On R4 in router eigrp:   router eigrp 10    network 10.1.4.5 0.0.0.0    no auto-summary 

  redistribute ospf 1 metric 100 10 255 1 1500 route-map EIGRP_to_OSPF    !    router ospf 1    network 10.1.1.8 0.0.0.0 area 34   

redistribute eigrp 10 subnets    !  route-map EIGRP->OSPF   match ip address 1  Answer:change in router eigrp router-map name 

Ans1) R4   Ans2) Route redistribution    Ans3) Change the name of the route-map under the router EIGRP or router OSPF process

from ?EIGRP_to_OSPF' to ?EIGRP->OSPF'.
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